ASSEMBLY INSTRUCTIONS/OAHI'TEY 2YNAPMOAOI'HXHX

Part List QTY Hardware QTY
I | Top Panel L | A AllenKeyM4 [ I
2 | Left Panel ! B| Plastic Dowel \ 13
3 | Right Panl ' || Mini Fix Bolt &35 | 10
4 | Front Support Panel 1

< Bottom Pancl | D| Mini Fix Housing 10
¢ [ Back Pane] 1 E | Mini Fix Cap @& 10
7 | Drawer Front Panel (Upper) 1 F| L Bracket j

8 | Drawer Front Panel (Below) | | G| JCBC Screw M6 X 30 Qo

9 | Drawer Left Panel 2 H| CSK Screw M3.5 x 16mm &= | 32
10| Drawer Right Panel 2 I| CSK Screw M4 x 50mm &=====> | 8
11 Drawer Back Panel 2 | |7 JCBC W Screw M6x40 f=s=s | 4
12| Drawer Bottom Panel 2 K 14" Drawer = 2_— 2
13| Metal Frame Leg 2







Pilot Hole/
MAoTikA TpUTTA

Step/BRpa 3

Step/Bipa 4




This is how a mini fix works...

Ste pIB rl “a 5 The head of the mini fix
housing goes into the open

& mouth of the mini fix bolt.
You then turn the mini fix
housing so it tightens
over the mini fix bolt.

‘Eto1 Aeitoupyei éva mini fix...

H kepaAn Tou TTepIBApaTog mini fix ptraivel
OTO AVOIXTO OTOMIO TOU UTTouAovIoU mini fix.
2Tn CUVEXEIQ, TUAIyETE TO TTEPIBANUa mini fix
b £T01 WWOTE VA OPiyYEl TTAVW ATIO TO UTTOUAOVI
mini fix.

%
3

X \\\\O

*Attach Minifix Cap as shown.
*2uvdéoTe To KatTakl Minifix
OTTWG QaiveTal.

This is how a mini fix works...

Ste pIB r:l “a 6 . The head of the mini fix

32  housing goes into the open
&° mouth of the mini fix bolt.
You then turn the mini fix
housing so it tightens
over the mini fix bolt.

‘ETo1 AeiToupyei éva mini fix...

H kepaAr| Tou TrepiBAfiuaTog mini fix prraivel
OTO QVOIXTO GTOMIO Tou UTToUuAovIioU mini fix.
21N ouvéxela, TUNiyeTe To TrePiBAnpa mini fix
£T01 WWOTE VA OPiyYEl TTAVW ATIO TO UTTOUAGVI
mini fix.

2

*Attach Minifix Cap as shown. i
*2uvdéaTe To KATTaKI Minifix s
OTTWG QaiveTal.




Step/BApa 7

Step/BrApa 8




Step/BRpa 9

o]

KO
1 o]

O

1 ° ol
o O]
0|
- ] o
O]
] o
1] o

Step/BRua 10

Back View/lliow oyn




Ste pIB r’] |.l(1 1 1 This is how a mini fix works...
x2

The head of the mini fix
,-,é housing goes into the open

mouth of the mini fix bolt.
You then turn the mini fix
housing so it tightens
over the mini fix bolt.

‘ETo1 Aeitoupyei éva mini fix... /
-

H ke@aAn Tou TrepIBARpaTOg mini fix prraiver

aT0 avoIXTé GTOUIO TOU PTTouAovIoU mini fix.
27N GUVEXEIQ, TUAIVETE TO TTEPIBANMA mini fix

£T01 WOTE VA TPiyYEl TTAVW OTT6 TO PTTOUAGVI

mini fix.

*Attach Minifix Cap as shown.
*>uvdéaTe 1o Katrdkl Minifix
OTTWG Qaiveral.

Step/Bripa 12 Step/Bfpa 122 x?

Step/Biua 12.1

12

s




x2

Step/BApa 13

Back View/lNiow own

Step/Biua 14




Odnyisc ouvTRPNOoNC Kal @POVTIOAC ETTITTAOU

- OAa 1a £tTiTTAQ TTPOOPICOVTal VIO XPrioN O€ E0WTEPIKO XWPO.
- Na TnpouvTal cwoTd o1 0dnyieg cuvapuoAdynong yia TNV KAAUTEPN 0TABEPOTNTA TOU ETTITTAOU.

- Kavte éAeyxo oTOoUG OUVBETHOUG Kal TIG Bideg avd TakTd Xpovika diacTtriuarta. OAeg o1 Bideg
TTPETTEN va €ival KAAD BIOWUEVEG.

- MNa ™ yun ocwaoTh cuvapuoAdynon Kal Xprion Tou €TTITTAOU N eTaIpia Yag O QEPEl Kapia eubuvn.

- MpooTabnoTe va PNV UTTEPPOPTWVETE Ta pA@Ia A Ta cupTapIa yiaTi ETTIBapUvovTal Ol
MNXQVIOMOI Kal N oTaTIKA dOur Tou TTITTAOU, evw OTav BAETTETE OTI UTTAPXOUV dUO TTOMOAQ TOTE
XPNOIJOTTOIEIOTE KAl Ta U0 0aG XEPIA VIO VA avoigeTe OuaAd To cupTdpl, BIOTI €I0IKA av gival
QOPTWHEVO TO OUPTAPI, EVOEXETAI VO dnuioupynBei BAGRBN OTOUG UNXaVIOUOUG A Kal o€ GAAa
MEPN TOU CUPTAPIOU KAl TOU ETTITTAOU YEVIKOTEPA, KOBWGS TO QOPTIO TOU ETTITTAOU £TTNPEACE! KAl
OTnNV OUVOAIKA @OpUa TOU, OTTOTE PTTOPEI va €TTEADEI TTAPANOPPWON.

- Otav peTaKIveiTal Ta ETTITTAQ, AVACNKWOTE TA KAl ATTOQPUYETE VA TA CUPETE YIATI £T01 JTTOPOUV
va TTPoKANBoUV @BopEC oTo TTATWHA Kal OTA id1a. XpNOIUOTIOIWVTAG TOOXAKIO WTTOPEITE va
TTPOOTATEWETE TNV ETTIPAVEIQ TOU TTATWHATOS 0AG ATTO UIKPOPOOPEG.

- O KoBapIoPOg Tou TTITTAOU 0ag TTPETTEI va YiveTal JE BapBakepd vwTTd KOAG OTUUUEVO
U@aopa. KaBapioTe Ye Yo OTEYVN TTETOETA TNV TTEPICOEIN UYPATIa TTAVW ATTO TO TTPOIOV, KABWGS
UTTAPXE! KiVOUVOG TUAMATA TOU ETTITTAOU VA EUTTOTIOTOUV KAl VA (POUCKWOOUV.

- Mnv xpnoiyoTrolEiTe TTPOIGVTA TOU EUTTOPIOU 1) KABAPIOTIKA PE XNMIKF oUvBeon yia TN
OUVTHPNON KAl TOV KABaPIoPO TwV ETTIQAVEIWY YIOTI gival TIOavo auTég va TTPOKAAEoOUV
OANOIWOEIG KAl ATTOXPWHATIONS OTRV ETTIPAVEIQ.

- 2€ OAa Ta ETITTAQ TTOU TTEPIAANPBAVOUV ETTITOIXIO OTOIXEIO (OUVOEDEIG, PAPIA K.ATT.) TTPETTEI VO
divetal 1Id1aiTepn BapuTnTa Kal TTpocox 0Tn B€0n Kal Tov TPOTTO £€6APTNOTG TOUG ATTO TOV TOIXO.
XpnolyoTroigite TavTa Ta KATAAANAa BUCUOTA TOiXOU Kal EAEYXETE KABE QOPA TRV TTOIOTATA TOU
Toixou oTov oTToio Ba Ta £¢apTRocTe. 'Evag 0aBpdg T0ix0g, uE KAKNAG TTOIOTATAS UAIKA 1} HIa
TOIXOTTOlia hE PEYAAN TTOoOTNTA OOPA yia TV KAAUWN ateAeiwy, dev evdeikvuvTal yia Bapi€g
e€apTHOEIC.

- Na unv 1retdéete TNV cuoKeuaaoia TTPIV TNV OAOKARPWON TNG CUVOPUOAOYNONG TOU ETTITTAOU.



Furniture maintenance and care instructions

- All furniture is intended for indoor use.

- Follow the assembly instructions correctly for the best stability of the furniture.

- Check the connectors and screws at regular intervals. All screws must be securely tightened.
- Our company bears no responsibility for improper assembly and use of the product.

- Try not to overload the shelves or drawers because the mechanisms and the static structure of
the furniture are burdened, and when you see that there are two handles, then use both your
hands to open the drawer smoothly, because especially if the drawer is loaded, damage may
occur to the mechanisms or other parts of the drawer and the furniture in general, as the load of
the furniture also affects its overall form, so deformation may occur.

- When moving the furniture, lift it and avoid dragging it because this can cause damage to the
floor and the furniture itself. Using felts you can protect the surface of your floor from minor
damage.

- Cleaning your furniture should be done with a fresh, well-wrung cotton cloth. Wipe off excess
moisture from the product with a dry towel, as there is a risk that parts of the furniture will soak
and swell.

- Do not use commercial products or cleaners with a chemical composition for the maintenance
and cleaning of the surfaces because they are likely to cause changes and discolouration of the
surface.

- All furniture that includes wall-mounted elements (compositions, shelves, etc.) must be given
special weight and attention to their position and the way they depend on the wall. Always use the
appropriate plugs and always check the quality of the wall to which they will be attached. A flimsy
wall, with poor quality materials or a masonry with a large amount of plaster to cover
imperfections, are not suitable for heavy dependencies.

- Do not throw away the carton, before finishing the assembly of the product.





